



      Practice Test – Stoichiometry
Name:






1.  What conversion factor do you use for the following conversions? a.  grams ((  moles:      
                                 .








        b.  moles (( liters:               
                       .









       c.  particles (( moles:   

                         .
2.  Convert 92 cm to m.

3.  Convert 861 kg to mg.

4.  Calculate the formula mass of CuSO4.

5.  Find the percent composition of the compound in number 4.  % Cu                 %S                    %O                  .
6.  Calculate the formula mass of (NH4)2CO3.
7.  Find the percent composition of the compound in number 6.   % N             %H
           %C
      %O
         .
8.  Find the empirical formula of a compound containing:


32.4% Na            22.5% S                      45.1% O

9.  Find the empirical formula of a compound containing:

38.1% C
11.1% H
50.8% O

10.  Find the molecular formula for the compound having the empirical formula of CH2 and a molecular mass of 70 g/mol.

11.  Find the molecular formula for a compound that is 75% C and 25% H, if the molecular mass is 64 g/mol.

Convert the following, using the fence-post method:

12.  35.1 g NaBr to moles:

13.  3.24 moles H2O to molecules:

14.  1.89 liters CO2 to moles at STP:

15.  58.0g NH3 to liters at STP:

16.  6.2 moles of NH3 to total number of atoms:

17.  5.3 molecules of F2 to liters of F2 at STP:

18.  If you start with 25.0 moles of Na, how many grams of NaCl could you make?


          2Na +  CuCl2  (  Cu  +  2NaCl

19.  How much silver (in grams) is produced from 30.0 g of silver oxide?


2Ag2O  (  4Ag  +  O2
20.  What mass of ammonium chloride must be used to produce 1.90 L of ammonia gas (NH3) at STP?


2NH4Cl(aq)  +  Ca(OH)2(aq)  (  CaCl2(aq)  +  2NH3(g)  +  2H2O(l)

21.  How many liters of CO2 gas will be produced when 4.0 L of oxygen gas react?


CH4(g)  +  2O2 (g)  (  CO2(g)  +  2H2O(l)

22.  If you have 2.1 x 1025 molecules of C2H6, how many grams of carbon dioxide could you produce?


2C2H6  +  7O2  (  4CO2  +  6H2O
Answers!!   2)  0.92 m      3)  8.61 x 108 m      4)  159.55 g/mol       5)  39.8%Cu,  20%S,  40.1%O        6)  96 g/mol   

7)  29.2%N,  8.3%H,  12.5%C,  50%O         8)  Na2SO4     9)  C2H7O2     10)  C5H10    11)  C4H16     12)  0.34 mol NaBr

13)  1.95 x 1024 mlcl H2O       14)  0.084 mol CO2       15)  76.4 L NH3        16)  1.5 x 1025 atoms      17)  1.97 x 10-22 L F2   18)  1450 or 1461 g NaCl      19)  27.9 g Ag      20)  4.5 g NH4Cl      21)  2.0 L CO2      22)  3069.8 g CO2
